l. Find the third side of cach right triangle with legs a and

b and hypotenuse c.

(1) a-=
(1) a =
(m)y b=
Solution:
)

LN

3, b=4, ¢=7

c=13, ="

5. ¢=606l,a="

a=13

b=4

c="7?
¢ =a’+ b’ By Pythagoras thcorem

=)+ (4)  Putting values ofa, b
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. b lo
‘ A
\.\ .
AR V- Fakimg square oot
[c=3]
(1) a S, ¢ 13, ho

By Pvthagoras theorem

h - =-a or

Putting valucs of a, ¢

A= (13) = (5)

h= - 169 =25
b = 144
—
vho o= i Taking square root
h=12
() b=5
¢ = 6l
a="
By Pythagoras theorem

g8 ]

5
cC=a+ b’

rd

a e therefore
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Puttimg values of b, ¢

-

a o (61) - (5)
H: q“"
0 3696

a — 3096 Takig squarc root

f 6,231
‘;' v} '\ l() x P ,’ I
— =
' l" - 4-4546 ;I
. a b hi
2 I the leps of a nght tnangle are 2ab and ™ = b7, prove that

2 2
hypolenusc s ™ + b

onge side - 2ab

’ ’
) <ade = n h

Hgppeate e = 7

Iy Pythaporas theorem

]

(H] ppraate ey - (Paby vt - b

PO gprents ippnas = J""I hiy v (Caly
- Ju' s h' - 2ah vda'h
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1 v
ad +h $ 20

e’ +h3)3

-\
Hypotenuse = (¢ +h)
3. F'ind the hypotenuse of the right isosceles triangle cach ol
whose leps s £
A
. I
B L C
Sol:
mAC = |
mBC =
mAB = 9

By Pvthagoras theorem

(wAB) = (WACY +(mBC)

+

VIHIE: = 2 Taking square root

mABR = Ji/ units
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4 l'ﬂl(l l!‘\u |ly|)(llcnu\u ol a TIL_'hI i,\_”_..,k-uh-k tn.mylc whose

leps are 8em

Bem

N ?cm -

Sol:

o

-~

Som here

Koem

By Pythagoras theorem

Putting values ol a, b
by o

(N) 1 (N)

064 v 6

1N

‘ A .
Jl N (NINTITH suare ool

JH-H-EV

H\/-: i
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S. ICthe numbers represent the lengths of the sides of a
wangle, winch trangles are night tnangles?

(1) J4as

(1) 9,17, 25

(m) 11, 61, 60

Sol: Length of sides 3,4, 5
We observer that, is the square of big side equal or not
cqual the square of the other 10 sides? Then these sides
will be right angle A& otherwise not.
(5 =25 (3)" +(4)’
=0+16
=25
These sides are sides of right angle A
(1)
(25)° (9) +(17’
=025 =81+289
=370
625 +370
Sides 9, 17, 25 are not the sides of right angle tnangle
(111)
61)° | (D) +(60)
=3721 =12143600
=3721

Sides 11, 61, 60 are the sides of right angle triangle.
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b. A1BC g right angled at C I mAC =%m and

m BC = 12cm | find the length 18 . using Pythagoras

theorem

Sol- In AIABC

By Pythagoras theorem
< =at+ b

Putting values of a, b
=127 + (9

= 144 + 81
¢t =225

Je& = v2 Taking square root

25
c=15]em



Rectangle


337

Fhe hypotenuse of a nyht tnangle is 25¢m. I one of the

sides are of length 24cm, find (he length of the other side.
Sol:

A

25¢cm 2 L4em

N Qz=? C
¢c=25c¢cm here
b=24cm

a="?

By Pythagors theorem

ct=a’+ p?

at = ¢? - b2 or

Putting values of b, ¢

a’ = (25)% - (24)?

=625-1576
a’ =49
a’ = 49 Taking square root

a="Tem
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8. A ladder 1 Tm long when set agaiﬁsl the wall of a house
Just reaches a window at a height of 15m from the ground.
How far is the lower end of the ladder from the base of the
wall?
Sol:
A
Ladder Wall
c=17m I5Sm
B &
Lower end of the ladder from the wall = a
b=15m here
c=17m
a="7

By Pythagoras theorem

al=c? —p?
Puting values of ¢, b
a’ = (17 - (15)}
= 289 - 225
a’ = 64
J; = \[a Taking square root '

(a=8]m
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The two legs of a night tnangle are equal and the square of
the hypotenuse is 50. Find the length of cach leg.

Sol:

here
By Pythagoras theorem
? =a’+b?
t=a*+ad® (a=b)
c? = 24?
2a® = 2 or

Putting values of ¢?

2a’ = (50)
2 2500
aQ = —

2

a’ =1250
a’ = J1250

taking square root
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) : [+
Length of cach side = 25V2 unuts
10, The sides of a tinangle are 15¢m, 36¢m and 39¢m. Show
that 1t1s a nght angled tnangle
Sol:
The length of big side = 39 ¢cm
The length of small side = 15¢m, 36cm

(Lengths of big side)? = [3‘3')2

= 1521 (1)

The sum of the square of small sides = (15)% + (36)°

225 + 1296

Now its prove that = [52] (1)
These lengths are the lengths of nght angle tnangle. ‘
Area

The surface inside the boundary of a shape is called arca.
We sce that, Is the big side of square cqual or not equal the
squarc ol the other two sides? Then these sides will be
sides of nght angle tnangle otherwise not.

Area of a Triangle when all the three sides are given

A tnangle ABC with sides a, b, ¢ and

a+h +c
2 L

where 'S"1s half the perimeter of a triangle.

S =ag+b+¢ = S =

Then area of any triangle s A = \/;(“‘-(" —aNS=-b)yS-c)

This 1s called Hero's Formula for linding the area of a

tnangle.
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